=
<

6(0 @) (rad)

iy H~)++H++++++ﬁ++++++++++++++++++++++ﬂ+++++++#++++H.(

23 -2

-1 0 1 2 3
TP n (PCA to beamline)

5
38
)
5107
107k
01053 |||||
g ||
1 H‘HW#MMH\‘HW’r #flr%#%yf%”
0957 5 T s

TP n (PCA to beamline)

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP_epoch4

SICEWATL

1072

g v f
3
i -E”+++++H#++++++++++++++++++++++++++*++++++++++++++++H+++
05F T 6 1 2 3
TP n (PCA to beamline)
3}—
o
107"
010% ! ! I | |
g ? ? ? ? ?
it H“““#HWWWW‘W’+WM+L
B 2 T S A

TP n (PCA to beamline)

g e
g
o]

107}

1072
o iuo ]'...l...'.'l....|....|....|....
E’ :

i WH+++++++++H+++++++++++H++++++++H++H+H
0955t T 2 3

TP n (PCA to beamline)



	Contents
	Page 1


